appVersion(4)="0.99.6970.38715"

IR +R L4 — I—l—UCOLI
T11 . . 11 | Ro TR, TP er.cfzz'pc‘ + Lo |I;;
‘=maple| solve ’
22 T -1 4T 1 4R |= Em _ UCo I22
11 | p-C 22 |p-.C 2|7 p 2
Ic(p)::maple[collect [simplify(IZZ fIll], p]]
C (L (=B + Uy + gy Ry )P —Ep ( Ry + By ) 4 Uy By + By +,)]
To(p)= >
RO+R1+R2-[1+p -C-L +[L+R2-C-[RO+R1]]-p
I.(p)
C
U =

-6 -3
R,=25 R :=5 R,:=243 E_:=195 C:=2.2-10 L:=46-10

E ‘R E Em-[RO+Rl]
o (== =3.9315 I i=—— =0.7863 U, :
° R, +R, o R, +R,

ci1 :m:21.4286
o TRy TR,
uc(t)::maple[convert [invlaplace (Uc(p), P, t], float]]

30 T T T
UCl
20 | .
>
T
5
10 | .
UCo
O 1 1 1
0 1 2 3 4
t, msec
u,(t-0.001)+U,,
UCo
U



